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# ]2 : Python#2 ;% 7%

from sympy import X

x1, x2, x3, x4 = symbols( x1 x2 x3 x4’ )
FAR  MEdad 4 f-y=# i 2

A = Matrix(]

Sy - ;700 - xd, X2 xd + 300, xL: 700 - i

ns = solve linear system(A, x1, x2, x3, x4)
intC X=", ans)
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from sympy import *
x1, x2, x3 = symbols( x1 x2 x3’ )
FAR Mt 4 B=y=HH (e R iE

A = Matrix(]

'/1%;,—1,0], Ix1: 6, x2: -5, x3: 1}
5,0, 20, 50],
0,10, 20, -30]
D
ns = solve_linear system(4A, x1, x2, x3)
rintC X=", ans)
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# ©6:Python#% ;" 75

from sympy import X

x1, x2, x3, x4 = symbols( x1 x2 x3 x4’ )

BiR Mt end ¥ -y=3% i B

A = Matrix(]
[1:1, 1,1, 31, . |

YRR = x1: 4, x2: 3, x3: -5, xd: 1}

[1,3,9, 27, -5],

[1,4,16,64,0]

D

ns = solve_linear_system(A, x1, x2, x3, x4)

intC X=", ans)
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» < ““ _ﬁ£ﬁb X‘ﬂ‘!:, xXo=0, x7=0.25 x=0.5, x3=0.75, x34=1

EALECEEE f(0)=0, f(0.25) =0.098017, f(0.5) = 0.382683,
£(0.75) = 0.77301,  f(1) =1

2
=X % 38 ;\ z"Tn/ f(x) — SIn (n2x )

%@ > 18] P& =0.09879%x + 0.762356x* + 2.14429x> — 2.00544x*
J S



0 = 0, X1 = 0.25, Xy = 0.5, X3 = 0.75,
1 x1 x1% x13
& 1 x2 x2%2 x23

D Z j‘ ’\;E‘_E_:

- 1 x3 x32 33
1 x4 x4% x43

1 0 02
1 0.25 0.25%

\$ A EL=|1 (0.5 0.52
1 0.75 0.75%

1 1 12

x3: 2.14428800000000, x4:

X4

-2.00543999999999 }

10"

a3

=1

£(0) =0, £(0.25) = 0.098017, £(0.5) = 0.382683.
£(0.75) = 0.77301, (1) =1

al
a2

03
0.253
0.53
0.753

13

04-
0.25%
0.5%
0.75%
14

0
0.098017
0.382683
0.77301
1

p(x) = 0.098796x + 0.762356x% + 2.14429x> — 2.00544x"
X= {x0: 9, x1: 0.9987960000000001, x2: 0©./62356000000001



Aoy AP X= {x0: 0, x1: 0.0987960000000001, x2: 0.762356000000001,
x3: 2.14428800000000, x4: -2.00543999999999}

from sympy import X
x0, x1, x2, x3, x4 = symbols(’ x0 x1 x2 x3 x4’ )
A = Matrix(l p(x) = 0.098796x + 0.762356x> + 2.14429x> — 2.00544x*

[1,0,0,0,0,0],

1,0. 25, 0. 25%%2, 0. 25%%3, 0. 25%*4, 0. 098017 ],
1,0.5, 0. 5%%2, 0. 5%%3, 0. b**4, 0. 382683 ],
[1,0.75,0. 7T5%%2, 0. 75%%3, 0. T5%*4, 0. 77301 ],
[1,1,1,1,1,1]

D

ns = solve linear system(A, x0, x1,x2, x3, x4)
intC X=", ans)
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